THTLE: ETT/39L - XCWA-X

NOTES:
. ALL DIMENSTONS +/- [ .0MM UNLESS NOTED
2. DIMENSTONS SHOWN ARE FOR ALL TOUCH TECHNOLGIES UNLESS NOTED.

48 FOR:
368 .4 - INTELLITOUCH
CaccuToucHh OSD CONTROLS
49 FOR:
- SECURETOUCH cce a_____ __
\ 49 5 FOR: Oeggggggg MEN) < /5B 0 a0 OO0 OO0, o
) . . = = : g
=3 % SR oo\ 600000 o 9 999 9 000000 o
00 000 O ]| ©[ooo
1 00O 000
0 [ 000 000
338 (;\jl" JJO O O O O 9
o [l 10 00 ® ® 0O O 9
(ACTIVE AREA) & looa 50 ol
- o)
270.3 213 o
(ACTIVE AREA) (CENTERING LIP)
®
306 .4 O
000 000
oool @ 000
000 000
. 000 o 000
10 0 0O 000
! 000 O . . 721006 700XXXAXX 000
- — -
jk]>
_J © ) ® ) I
BE/ZEL WITH WIPER BLADE SEAL SEE DETAIL A
RJ45 FOR REMOTE OSD
(REMOTE P/N E483757
ORDERED SEPERATLY)
NC POWER INPUT: USB TOUCH SCREEN QUTPUT
BARREL IDzZ6.4mm
PIN ODzZZ2.0mm SERTAL INPUT
DARREL DEPTHZ8 . 8mm
INPUT VOLTAGEZIZ2V DC =£57%
/.
| A B
ﬁeeeeeee ]p Io/ﬂ‘“.) ee@
m ® m ® )
- ey VU
=
DV 1-D VIDEO INPUT
E; VGA VIDEO [INPUT
= 346
SETAIL A (CENTERING LIP)
CENTERING LIP
TYP.
SCALE |
MS500 785
DIMENSITONS ARE IN MILLIMETERS DATE: 06/19/2014
REV: L




THTLE: ETT/39L - XCWA-X

RECOMMENDED CUSTOMER
PANEL CUT-OUT (sce note 2)

VESA MOUNT SIDE MOUNT
379 .4 ’
- 00 —=] M4 THREAD VERTICAL
+ | + 76 MAX . SCREW DEPTH = 7mm
(S ) NOTE A (%8)
R6 CUSTOMER PANEL MATERIAL : |
(X4) ———
ecocoeoe oo
| WOOD: @ 4.5 HOLES THRU - >SEL O 000000
T + P OR 4 SCREWS WINUTS. kgggggg 9000 olle 0000°°° 5o
= 341 /-0 OR, NO THRU HOLES, SCREWS 0060 ‘ ® oo
FOR WOOD @ 4mm, 600 500
279 +1/-0 > SHEET METAL: CONCEALED HEAD 888 888
shi. 4 THREADED STUDS M4 W/NUTS. : :
170 B B B B B B B B 0O © O0O0
+ ¢ T - 1000 00 ol
©
MONITOR INCLUDES 2 BRACKETS,
ADDITIONAL BRACKETS AVAILABLE.
P/N E14721 | o
. N 100
NOTE C 75
49 mm = SECURE TOUCH O
L ) ocool © 000
0O O0O0
/ + ¢ + 000 /o) 000
RECOMME NDED L J ©oo0 T TOONANX | |
CUSTOMER PANEL a e B ©°9 o - 122 °F 03 7 |
CUT-0UT |
REAR MOUNT WITH BRACKETS, =] 7
MOUNT ING BRACKET ADJUSTMENT RANGE HORIZONTAL OR VERTICAL 82 .7
_
(SEE NOTE B)
—= = 14.95 BRACKETS IN HORIZONTAL EE_E E_EE
3 POS | TION \
ﬁ o o d; 3.2 —
®eeo0000080 <o > SEL O 000000 (SEE NOTE C)
[eNoNoNeoNeoNeoNe;
:. go OOOOOOH MH 000000 Og
") XeXell © _ © boo
11 000 © 000
000 (Ol ON¢) 000
060 Oljlo 0 0O oNoNe] K&
m 00 © 000
1| 000 o 000 SlDE MOUNT,
o HORIZONTAL
eeeee006 6114@»-' g).-::-:
" 3274 |lgcole 500 n_l ©® X (@] M © LA
064 00O 000 L
L oo 000 o 000
-u " 600 000 — 3.7
O Yooo] o _ . T joooff e (SEE NOTE C)
=] l \
BRACKETS IN
L b H 3 | VERTICAL POSITION
—= — —
V @) @)
389 .4
MS500785
DIMENSIONS ARE IN MILLIMETERS DATE: 06/19/2014
REV: L




THTLE: ETT/39L - XCWA-X

BLACK ANODI/ZE FINISH $;4§ ] 476 “RONT MOUNT ASSY .
FRONT MOUNT OPTION
r P/N E860319
\ (ORDERED SEPERATLY, CUSTOMER ASSEMBLED)
9 1]
N
1
"
"
® |
) =
343 .4
[ |
Ul
Ul =
UL
© oo
®
FRONT MOUNT BRACKETS (4)
(INCLUDED WITH FRONT MOUNT ASSY.)
. ﬂ) ’
Nﬂ ETI/739L MONITOR
\
X\¥CUSTOMER PANEL ;
405 4 D5 NoTE: |
(X&) . |F CUSTOMER PANEL MATERIAL IS WOOD;: QEQNTEﬁgNQAEEQCQET%HAgﬁﬁEQQDATE
§34.5mm HOLES THRU FOR M4 SCREWS, ' '
OR NO THRU HOLES, SCREWS FOR WOODQ@Amm.
2. |F CUSTOMER PANEL MATERITAL IS SHEET METAL:
CONCEALED HEAD THREADED STUDS M4 WITH NUTS.
3871 +1/-0 y Ch ~0) .
& (&
CUSTOMER PANEL CUT-0OUT 9ggggggg MW > SEL O oooo00o0
/[ AND MOUNTING HOLES R15 MAX go 6060600 MH 000000 Og
(X4) 000 © © o000
/ / 606 ° B33
J + + / Alooo 000lR
(o_ 000 o [°00° 73)
000 000
©
36 ©
+
355 .1 325. 1 +1/-0
000 000
150 B B B B B B B B coo| @ 000
000 000
000 o 000
/ 000 000 \
& 000 o T2006700XXXAXX 000 3
O 11— O
+ m
_J
| I — N — |
‘ O O ’
/ + + / N lo ol /
- |50 — =
4017 .7 —
MS500785
DIMENSTONS ARE IN MILLIMETERS DATE: 06/19/2014

REV: L




THTLE:

c 390 - XCWA-X

487 .6

RAC

K _MOUNT OPTION

P/N E939253

(ORDERED SEPERATLY, CUSTOMER ASSEMBLED)

260

DIMENS TONS ARE

I[N MILLIMETERS

399

&=
(=

465

34 .38

ll

48

49.3

MSS00 7895

DATE: 06/19/2014

REV: L




THTLE: DIMENS TONAL DRAWING, ETI/739L

PROJECTED CAPACITIVE MODELS ONLY

M4 THREAD
MAX . SCREW DEPTH 6mm FROM
//FMOUNTNG SURFACE X8
381 .2
395,440 3
(CUT-0OUT DIMS. FOR 45 . 4
CUSTOMER PANEL) = 9 /=

868000000 EN) <

> o
@ 0006999@ 000 QE ‘Pooooooq

co\oO0O0O00O0

=)
00
©00 @00
338,92 000 ®  © @000
ACTIVE AREA 1000 ] Q00
B0 0 0 0 0 Ol
000 E% [:J 000
HO 0 O ® 0 0 o[l
@S@ .
330, /+£0.3
(CUT-0UT DIMS. FOR 316.5
CUSTOMER PANEL)
|
211 .34
ACTIVE AREA
RI11.8+0.7
(CUT-0OUT DIMS. FOR M4 THREAD .
CUSTOMER PANEL) MAX . SCREW DEPTH 7mm FROM
MOUNT ING SURFACE. X8
fFFLceccocoee
MS500785
DIMENSTONS ARE IN MILLIMETERS DATE: 06/19/2014
REV: L




395.4+0.3
(CUT-0OUT DIMS.

FOR

CUSTOMER PANEL)

— 339 .3

(ACTIVE AREA)

211,38
(ACTIVE AREA)

DIMENS TONS ARE

I[N MILLIMETERS

THTLE: DIMENS TONAL DRAWING, ETI/739L

1739 1Touch/ No Touch Open-Frame ZB

330.74+0.3

(CUT-0OUT DIMS. FOR
CUSTOMER PANEL)

RI1T.8£0.2

(CUT-0OUT DIMS. FOR
CUSTOMER PANEL)

M4 THREAD,

MAX. SCREW DEPTH 6mm FROM

MOUNTING SURFACE

000000
000000
000000

J
(®)

§

£ o

fcoocooo

(ORORONONONONE N

(VEVEON VNONONG

O0O0O0OO0O@

® @

OCO0O000O0
(O ONONONONG,

\LMA THREAD,
MAX. SCREW DEPTH 7mm FROM
MOUNTING SURFACE. X8

X3

316.95

MSS00 7895

DATE: 06/19/2014

REV: L




FOAM SEAL
PCAP TOUCH SCREEN

SECT ION

SECTION A-A
SCALE |

SCALE |

THTLE: DIMENS TONAL DRAWING, ETI/739L

PROJECTED CAPACITIVE/ZITOUCH/NO TOUCH ZB MODELS
FLUSH MOUNTING
P/N E129564

 TOUCH SCREEN

FLUSH MOUNT INSTALLATION NOTES:
ATTACH BRACKET "A" TO CUSTOMER PANEL "C" PER DRAWING

.
2.
3.
4

5.

ATTACH BRACKET "B" TO BRACKET "A" WITH M4 SCREWS

(RECOMMENDED OFFSET OF
TOUCH SCREEN SURFACE)

D" C INCLUDED)

PLACE TOUCH MONITTOR INTO CUSTOMER PANEL OPENING, TAKING CARE NOT TO DAMAGE FOAM SEAL

ADJUST DEPTH OF BRACKETS "B" SO MONITOR IS FLUSH
SLIGHTLY PROUND OF CUSTOMER PANEL ABOUT [IMM FOR

WITH CUSTOMER PANEL FOR PCAP,
| TOUCH

SECURE TOUCH MONITOR TO BRACKET "B" FROM BEHIND WITH M4 SCREWS "D" (INCLUDED)

RECOMMENDED CUSTOMER PANEL CUT-OUT

40972
|
] . o0 CX3
6.94+0. j'L / {r T &im \_JE,, T 3)
000000 _ " PEY ) 000000
- — I — N ON0555552H [0ooo old L‘:"”"‘A
3 — o of
=— 395.440.3 _—MOUNT ING HOLES, 000 5
M4 THREADS, X8 coo @ o
o © o © o
_—MOUNTING HOLES © ° % @/@
0// ) @
el 910 | 6.94+0. | —= = 394 .5 A A B
O O
ﬁ ho()() Q0o
120 100— - + — — — — t — — - = -1 3445 600 o 000
4 x4 of@foce & %o 200ksl,
$ % Sl THo o o o 000 NE
000 TZ00700XXXAXX 009©
° 330 7403 : = !
| //@ CUSTOMER PANEL :
6 940 | — MIN THICKNESS = 3 MM
/R4-8i0-2 ( MAX THICKNESS = 9 MM
X
|
’ |
| + |
* glo
\

DIMENS TONS ARE IN MILLIMETERS

MSS00 7895

DATE: 06/19/2014

REV: L




	Sheet 1
	Views
	new_view_56
	right_56
	right_57
	bottom_58
	A


	Sheet 2
	Views
	main_view
	new_view_69
	left_69
	new_view_71
	right_71
	bottom_71


	Sheet 3
	Views
	new_view_74
	new_view_75
	new_view_76
	new_view_77
	right_77
	main_view


	Sheet 4
	Views
	new_view_81
	right_81
	bottom_81


	Sheet 5
	Views
	new_view_3
	right_4
	right_5
	bottom_6


	Sheet 6
	Views
	new_view_17
	bottom_18
	right_19
	right_20


	Sheet 7
	Views
	new_view_1
	new_view_7
	new_view_8
	new_view_9
	new_view_11
	new_view_13
	new_view_14
	new_view_15



